

Exercício 17

$$\begin{cases} \cdot f(x) = x^2 - x - 2 \\ \cdot h(x) = \frac{1}{x^2 - 4} \\ \cdot t(x) = 1 - x^2 \end{cases}$$

$$a) (f \circ t)(x) = f(x) \circ t(x) = \underline{x^2 - x - 2} - \underline{1 + x^2} = -x - 3$$

$$\begin{aligned} b) (f \circ t)(x) &= f[t(x)] = (1 - x^2)^2 - (1 - x^2) - 2 \\ &= \overbrace{1 - 2x^2 + x^4} - \overbrace{1 + x^2} - 2 \\ &= x^4 - x^2 - 2 \end{aligned}$$

$$c) t^{-1}(x) \Rightarrow$$

$$t(x) = 1 - x^2$$

$$y = 1 - x^2$$

$$x = 1 - y^2$$

$$y^2 = 1 - x$$

$$y = \sqrt{1 - x}$$

$$t^{-1}(x) = \sqrt{1 - x}$$

$$\begin{aligned} d) (t \circ h)(x) &= t[h(x)] = 1 - \left(\frac{1}{x^2 - 4}\right)^2 = \\ &= 1 - \frac{1}{(x^2 - 4)^2} = 1 - \frac{1}{x^4 - 8x^2 + 16} = \end{aligned}$$

$$= \frac{x^4 - 8x^2 + 16}{x^4 - 8x^2 + 16} - \frac{1}{x^4 - 8x^2 + 16}$$

$$= \frac{x^4 - 8x^2 + 15}{x^4 - 8x^2 + 16}$$

$$d) h^{-1}(x) \Rightarrow$$

$$h(x) = \frac{1}{x^2 - 4}$$

$$y = \frac{1}{x^2 - 4}$$

$$x = \frac{1}{y^2 - 4}$$

$$x \cdot (y^2 - 4) = 1$$

$$y^2 - 4 = \frac{1}{x}$$

$$y^2 = \frac{1}{x} + 4$$

$$y = \sqrt{\frac{1}{x} + 4}$$

$$y = \sqrt{\frac{1+4x}{x}}$$

$$h^{-1}(x) = \sqrt{\frac{1+4x}{x}}$$

$$f) (f \circ t^{-1})(x) = f[t^{-1}(x)] = (\sqrt{1-x})^2 - \sqrt{1-x} - 2$$

$$= 1-x - \sqrt{1-x} - 2 = -x - \sqrt{1-x} - 1$$

Exercício 18

$$\begin{cases} f(x) = \sqrt{x-1} \\ g(x) = \frac{1}{x-3} \end{cases}$$

$$a) f^{-1}(x) \Rightarrow$$

$$f(x) = \sqrt{x-1}$$

$$y = \sqrt{x-1}$$

$$x = y^2 + 1$$

$$x^2 = y^2 + 1$$

$$y = x^2 + 1$$

$$f^{-1}(x) = x^2 + 1$$

$$b) g^{-1}(x)$$

$$g(x) = \frac{1}{x-3}$$

$$y = \frac{1}{x-3}$$

$$x = \frac{1}{y-3}$$

$$x \cdot (y-3) = 1$$

$$y-3 = \frac{1}{x}$$

$$y = \frac{1}{x} + 3$$

$$y = \frac{1+3x}{x} \Rightarrow g^{-1}(x) = \frac{1+3x}{x}$$

$$\begin{aligned} \text{c) } (f \circ g)(x) &= f[g(x)] = \sqrt{\frac{1}{x-3} - 1} = \\ &= \sqrt{\frac{1-x+3}{x-3}} = \sqrt{\frac{4-x}{x-3}} \end{aligned}$$

$$\text{d) } (g \circ f)(x) = g[f(x)] = \frac{1}{\sqrt{x-1} - 3}$$

$$\frac{1}{\sqrt{x-1} - 3} \cdot \frac{\sqrt{x-1} + 3}{\sqrt{x-1} + 3} = \frac{\sqrt{x-1} + 3}{(\cancel{\sqrt{x-1}})^2 - 3^2} = \frac{\sqrt{x-1} + 3}{x - 10}$$

Racionalizar

